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| Noam.
Time : 3 hours
 Full Marks : 80

Candidates are required to give their answers in
their os\.: words as far as practicable.

The @.@:mmm in the margin \:Q\om»m,w:\\ marks.
Answer from both the Groups as directed.

| Group-A
~ (Objective-type Dcmmmosmv

~ Answer all questions.

1. Choose the correct answer of the following :

| . 2x10 =20
(@) Which o,n.mﬂmﬁoﬂ. has the ._c<<,mm~_ precedence ?
e Size of |
(i) c_:ma\

(iif) >mmwmz.3m3~
(iv) Comma

Z_m,l 4/1 W ~ (Tumover)



(b) Which ov.mqmﬁow cannot be \cwma <<§,ao~ . | i >w_xxx<x<<NNNm

. operands?. = 4 . (iv) None ofthese : o .
ks o , 1 () Pointers are used to create complex data
i \ e 1 enclures ke
iy % ¢ i | : L (i) Trees
(i) * o - ) Linked

(c) ﬁ:m.?:o:o:%m:m invoked isknownas: . : _ (iif) Stack

, ‘ , (iv) Queue

(i) Calling E:oao:,
; 3 All of Em mco<m

(i) Caller function ‘
i) Called funston ,@ A m»EQEm can cm v_moma <<_:._S m:oﬁ:mﬁ
() I0ioking e , structure and is _30<<: as:
v) Invoking func _o:
‘ (i) Self-referential structure
(d) The oan_mx&\ oﬂ _o_:ma\ mmm_d: m_mo_.::_j

(i) Nested structure

M_mv . o@ (i Paralel structure ..
- , oA:mv ) - (iv) Pointer to structure ; e
f , - .(h) The enumerated type is derived from which
 (iii)  2:_8 n) , : , Qmﬁm.a,\_um,.v | ; :
(8 ddogn) . - . . e
(6) Repalce (XXXYYYZZZ','XY", ‘ABY)= - . . (i) Float
MRz . (iii) Double
(iy XABYYYZZZ . e | ‘ (iv) Char

ME=aH - - @ ok ME-4/1 ) (Tum over)



(i) Which function is used to Skocile file with
a stream ? . .
(i) fread()
(ii) foken ()
(iil) floes ()
, (iv) fllush
@) Anarrayis
() Randonaccess structure
cc Sequential access structure
(iii) Both (i) _.,m_a iy L
(iv) None o*?,m_m_,m
Group - B ,

. « ,A_.o:m,mzmim__. Type Questions)

Answer ma\ four questions of the following :

_ 15%4 = 60
m Writea ‘'C’ Eomﬁ.,_: to print the following pattern :
2 12
F2D
Zm e A:, (4) Contd.

3. (a) Dimqmsgm.ﬁw between E:Q.,o:, amo_m«mnou
and function definition. . .
(b) mxn_m_: the concept of ﬂmocquw function with
 examples.
4, (a) Writea function that oo:<m:m temp given in
om_w_cm into fahrenheit.
(b) Howisatwo a_Bm:m_o:m_ array avamm:ﬁma
in 3m302 ?
5. (a) ,<<5mﬁ do you c:am_.mﬁm:a by a Null pointer 7
(b) Explaintheterm .%:mB_o memory allocation.
6. (a) Differentiate Umgmm: a mﬁ_,coﬁca and aunion’ 7
(b) <<:8 -a program to ﬂmma and a_mn.m< the
.ao:,:mﬁ_o: mcocﬁ an mBo_o<mm cm_:@ meﬁma ;
structures.
7. (a) Differentiate between om__ by value and call
by reference cm_:@ suitable mxmBU_m
- (b) Which ﬁmo::_ncm of mmmqo:_:n an m_mBm:ﬁ in
' the array ao you prefer to use and in which -
situation ?
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